BANK BRADESCO
Form 6-K
May 11, 2012

Washington, DC 20549

Form 6-K

Report of Foreign Private Issuer Pursuant to Rule 13a-16 or 15d-16 OF the Securities Exchange Act of 1934

For the month of May, 2012

(Commission File No. 1-15250)

Banco Bradesco S.A.

(Exact name of registrant as specified in its charter)

**Bank Bradesco** 

(Translation of registrant's name in English)

Cidade de Deus, Vila Yara 06029-900 Osasco, SP,

**Federative Republic of Brazil** 

(Address of Principal Executive Offices)

(Indicate by check mark whether the registrant files or will file annual reports under cover of Form 20-F or Form 40-F.)

Form 20-F <u>X</u> Form 40-F-\_\_

(Indicate by check mark whether the registrant by

furnishing the information contained in this form

is also thereby furnishing the information to the

Commission pursuant to Rule 12g3-2(b) under the

Securities Exchange Act of 1934.)

Yes \_\_\_\_ No <u>X</u>

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In April 2012 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.
Group and (x) Controller's

Family Dependants

### **Openning Balance**

Type of Securities/Derivatives	Quantity	% of partic	cipation	
		Same type of	Total	
		Shares		
Common Shares	1,392,981,56	3 72.8395	36.4197	
Non-Voting Shares	47,552,48	39 2.4865	1.2432	
	Closing Balance			
Type of Securities/Derivatives	Quantity	% of partic	cipation	
		Same type of	Total	
		Shares		
Common Shares	1,392,981,56	3 72.8395	36.4197	
Non-Voting Shares	47,552,48	39 2.4865	1.2432	

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In April 2012 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco B Group and Family Dependants	radesco S.A. (x) Board of Directors	() Board of E		() Audit Co	mmittee	() Technic Advisory A	
•		Opennir	ng Balance	•			
Туре	e of Securities/De	•	J	Quan	tity	% of partic Same type of Shares	ipation Total
	Common Shar	es		13	3,722,991	0.7175	0.3587
	Non-Voting Sha	ares		18	3,047,543	0.9437	0.4718
		Month I	Movement				
Type of Securities/Derivative	Broker es	Operation	Day	Quantity	Price	Value ir	n R\$
Non-Voting Shares	Bradesco	Buy	26-Apr	1,000	29.47	R\$ 2	29,470.00
Non-Voting Shares	S.A. C.T.V.M	l Total	•	1,000		R\$ 2	29,470.00
•		Closing	g Balance				
Туре	e of Securities/De	erivatives		Quan	tity	% of partic	ipation
					·	Same type of Shares	Total
	Common Shar	es		13	3,722,991	0.7175	0.3587
	Non-Voting Sha	ares		18	3,048,543	0.9437	0.4718

Company: Bra	adesco Leasing S.A.	Arrendamento Mercantil			
Group and Family Dependants	(x) Board of Directors	( ) Board of Executive Officers	( ) Audit Committee	() Technic Advisory A	
		Openning Balance	<b>;</b>		
	Type of Securities/D	erivatives	Quantity	% of partic	cipation
			·	Same type of Shares	Total
	Common Sha	res	(	0.0000	0.0000
	Non-Voting Sha	ares	(	0.0000	0.0000
	•	Closing Balance			
	Type of Securities/D	erivatives	Quantity	% of partic	ipation Total

	Same type of Shares				
Common Shares	0 0.0000 0.000	)0			
Non-Voting Shares	0 0.0000 0.000	)0			

# Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In April 2012 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Group and Family Dependants	Bradesco S.A. () Board of Directors	(X) Board of Offic		() Audit Co	mmittee	( ) Technic Advisory A	
-		Openni	ing Balance				
T	ype of Securities/De	erivatives		Quant	ity	% of partic	ipation
						Same type of Shares	Total
	Common Shar	es			435,294		0.0113
	Non-Voting Sha				808,245		0.0211
	The standy can		Movement		,		
Type of	Broker	Operation	Day	Quantity	Price	Value in	R\$
Securities/Deriva	tives	•	•	,			
Common Shares		Sell	23-Apr	150	25.18	R\$	3,777.00
Common Shares		Sell	24-Apr	150	25.83	R\$	3,874.50
Common Shares		Sell	25-Apr	150	25.29	R\$	3,793.50
Common Shares	Bradesco	Sell	26-Apr	150	25.11	R\$	3,766.50
Common Shares	S.A. C.T.V.M	.Sell	27-Apr	100	25.32	R\$	2,532.00
<b>Common Shares</b>		Sell		700		R\$ 1	7,743.50
Non-Voting Share	S	Sell	02-Apr	1,600	32.00	R\$ 5	1,200.00
Non-Voting Shar	es	Sell		1,600		R\$ 5	1,200.00
		Closin	ng Balance				
T	ype of Securities/De	erivatives		Quant	•	% of partic Same type of Shares	ipation Total
	Common Shar	es			434,594		0.0113
	Non-Voting Sha	ares			806,645	0.0421	0.0210

## Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In April 2012 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco B Group and Family Dependants	radesco S.A. () Board of Directors	() Board of E		(X) Audit Co	ommittee	() Technic Advisory A	
•		Opennir	ng Balance	•			
Туре	e of Securities/De	•	3	Quan	tity	% of partic Same type of Shares	ipation Total
	Common Shar	es			10,207	0.0005	0.0002
	Non-Voting Sha	res			154,467	0.0080	0.0040
	_	Month I	Movement				
Type of Securities/Derivative	Broker es	Operation	Day	Quantity	Price	Value ir	n R\$
Non-Voting Shares		Sell	03-Apr	330	32.06	R\$	10,579.80
Non-Voting Shares	Bradesco	Sell	26-Apr	32	29.67	•	R\$ 949.44
Non-Voting Shares	S.A. C.T.V.M.	.Sell	26-Apr	641	29.70		19,037.70
Non-Voting Shares		Total	•	1,003		•	30,566.94
J		Closine	g Balance	ŕ		•	•
Type	e of Securities/De			Quan	tity	% of partic	ipation
,					,	Same type of Shares	Total
	Common Shar	es			10,207	0.0005	0.0002
	Non-Voting Sha	res			153,464	0.0080	0.0040

#### **CONSOLIDATE FORM**

#### Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In April 2012 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and ()Board of Directors () Board of Executive Officers () Audit Committee (x) Technical **Family** and Advisory **Dependants Agencies** 

**Openning Balance** 

Type of Securities/Derivatives Quantity % of

> participation Same Total type of

Shares

Common Shares 11,254 0.0005 0.0002 Non-Voting Shares

16,666 0.0008 0.0004

**Closing Balance** 

Type of Securities/Derivatives Quantity % of

> participation Same Total

type of

Shares

**Common Shares** 11,254 0.0005 0.0002

Non-Voting Shares 16,666 0.0008 0.0004

#### **SIGNATURES**

Pursuant to the requirements of the Securities Exchange Act of 1934, the registrant has duly caused this report to be signed on its behalf by the undersigned, thereunto duly authorized.

Danco Di autsco S.A	Banco	Bradesco	S.A.
---------------------	-------	----------	------

Date: May 11, 2012

By:\_\_\_\_\_

Name: Luiz Carlos Angelotti

Title: Executive Managing Officer and

**Investor Relations Officer** 

2